N of reco track vs dxy

N of associated (recoToSim) tracks vs dxy

N of associated (recoToSim) looper tracks vs dxy

%] 1% %] %]
x X < B4
8 3 g 8
El g g
10° = 5 o
=3
3
10
10* 10 10™
1
10 10”
o 1—6 + SRR AT AT ITTATATATAN T AT TAYIATY
2 —TT-baSe—giter_noSel_ .
c 1 —TT retramOIdFiles_v2 8iter2 noSel
24 7 2
- 0.5

09fF--:

85 =50-15-10 =5 0 5 10 15 20 25

N of reco track vs dz

track dxy (cm)

.. tracks

03

10

Ratio
.
!

|

i

i

-10

0

10 20 30
track dz (cm)

095=50-15-10 5 0 &

10 15 20 25
track dxy (cm)

[N of associated (recoToSim) tracks vs dz_]

Jrue tracks

20 30
track dz (cm)

[fake tracks

5 =50-15-10 5 0 &

10 15 20 2
track dxy (cm)

U

10

10 20 3
track dz (cm)

10 15 20 25
track dxy (cm)

| N of associated (recoToSim) looper tracks vs dz |

duplicate tracks
o

-10 0 10
track dz (cm)

20 30



	Contents
	Page 1


